llf % 30. Volu e below T [ = y%" - fj/" M Avsl’ octant .

—

=0 =2 Xz/az-f‘a‘—/‘;q_:(
¢ Allipse

D V=00 1- 5 -9 da

(_M’ )(—; (K(,\/ 3 = ‘OV , W g’ g (au)’—q. . _(éi')z -
a T

b
Q(K:u!) © _
3 ore)—) =2 ‘ - ok U+ vl carde

M UV ‘/’,@N .

V= ([0 =w-vm) ab dady

R

N 0w e ()o\w coov s U=z v cosG VZ:r QO

1§

o govzgcl)(I"rZ)ro(/O(,& = Tgoja[fz“‘éq o,

= ol

o ————

%

3. W U= Xy, v= 3x Lf?.
N\ Tz =t 2 v=S +h 6
\.__\ ' \‘/ — L“./( =
| < )=, Xty s @ty (v-g)
V- 3y = % :
-~ 3y =
- = RV'L-V-(W/ +25u"
-‘35*,"3 g dlu) l : '
: —_— :I "—' 4—3:‘ = D_(‘{_'"j .-I
>('W)=( '5)(-#(3:5 P} (X,v)) 3 4 IO I

6 2
gq g, @v” - Yuv « 2\‘«4?) B Ay = 7/

7 18



€

36, Aves Dinside  lx* YT 236 | aboe Ryt
M l/("lx,’ Ve 23’ M’,‘+v"=36

+ \J =
5 U+ vz b,

M —Axdy
Aread = [§0A)= (] % dude =% s ots
S S (A u-vplace
U u 2 o -
/\ 9&) t 6 _c)(x,j) L ‘/é
/. Weve b )(,c,.j) 0 2 N (o)




©®

3
. R
«*
+ Zal
2 ( o
2;
X -
) .
) - Z - X +'8?,
(» — (2
ﬂ~‘zyl 7z 2
’_ 7
g + 2( -
Z
-3)"
— 18
+ 27

2 (
X
-,)'L+l

(

\j-« 231
e 2(
Z
f3)1 =
=

) (o(—«)q“
} +
K (»
g+2)"
-+ (?’3)1 =
=
/
ya
§plfww<
Oﬁrhtl "
[ )
- e
[,-2 3%) )

4
(X + ;48&4— 4
O( ) - 4 o
1-2) + -
31) +0'%—4+2
2
| 6 o

(X ) l =
/ [/ ;@V\jy{




(0. X%+ Q%Z': & %% 8 vomeble > cy.@rhaéa,v
WV\; a (x4 S,
%\A‘S J o 6@0\/%

&(ja_m, cﬁbw&w a,@ovxg Y o
bodo. . Does b jrdevieck
2 - 0weis (A x=0).




O

w,(Q/
c«)!@ww horg 7 —axas

/)W\a M;movgl\ OM‘ﬁfﬂ'\ .

(nfese chon o [0 e
» < ( sn o/@&‘fne) .

o e
edge  of

Io(awz

®de New:

<

S  He  ikenedhoe 5 pocedela,

P‘va 2= [+x ¥y [’)ww} o Hae

N gl



“-(g l . SSSO'f 2)("33)9(\/) "QSKSA}*loSaélo)-c_‘%Sc.
R

ap——

B gcof% %\) cﬁa S& Q,*Zx:fﬁg) dx = S(J?Sbcﬂ% (x X" 3yx)
b N

=C o

a

o
-C vin

_ gcdzg}? (9a - gda>;: gcd%(lan-‘yfa”b

e ~c b

= [ detab) = 4o 2| = gabe



A Sgg )ﬂ%o(\/ 0¢x€\, -2<yfo, |€ac<y
5

g'q So ﬁ; Xy A 0%0(% = f/#fv: <l/2x"'52/l> Ay da

_ 4 2 0 4‘ 2
B gl '/L'Lj %‘—1 O g, G _(/12“=_’;

3. ggg (3* Q—x,‘j> A% ) D %l*‘ji*%‘fk, 2720,

D vooius 2
ﬂ/\ﬂ 'FL(V\UHOM Xg (s ool d uwdor re Hechon x> —~X,
vk D 'S &Lanmww'c v~oler Hs e Heotron,
o §fxy dy=0. (§03 dv> 3 <\l D
D D = 3-'/1-‘*/5-7T9~,3§_/67C.
k. ggg x dV X= O o o
y = O to b- % P%

L"b/kx C' C/a_x _C/"H’

< | §:Ax go (LJS x A=

O

b- b, x
dy, (xc - G, x* - C/ij)



i

il

’ 2
¢

B

5% ¢ (SI.‘ ,(;w\ﬁ%\(‘k—\(‘( +‘X3 -

- ¢ xb + C-l"
2b

5

/ Gl — f/3 albc ~ {./3 a*tbe -+ia'lfo’c - chba*s ‘/Cl"a}*
: /,»4

| oy &
/3’)' atbe

2.4

_cb)

l
;



